Ch 22 AP Stats Name \léc\ - QQU&S

Prior Free Response
Difference of Two Proportion Z-Test

1. One hospital has 1000 live births during the summer, while a second hospital has 500 live births over
the same time period.

a) Assuming there is a 50% chance for a live-born male infant, which hospital is more likely to have
less than 45% male births? Explain your answer. (Hint: think Ch 14 probability)

b) Suppose the first hospital has 515 male births, while the second has only 240. Is the difference
statistically significant? (Hint: Ch 22 two tailed test)
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